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charset="UTF-8"
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changeColor(}{
document.getElementById|"881").style.color = "red";
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findGCD{a,b){
whilel [

a=b;
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changeColor(){
document.getElementById("061").style.color = "red";

findGCD{a,b){
whilel( [
if(b = @
return a;

Ly

}
console. log{ findGCD(56,98));
console. log{findGCD(48,18));
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changeColor(}{
document.getElementById("881").style.color = "red";
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if(b = @
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r = a%b;

a = b;
[

a = Math. floor(Math.random()*8 + 2};
b = Math.floor{Math. random( )18 + 1};
document.write(a + "x=" + b);

2], 1Fs
style="color: Oblack" id="e@1"

x
console. log(findGCD(56,98));
console. log(findGCD(48,18));

ged = findGCD(a,b);
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a = Math.floor(Math.random()*8 + 2};
b = Math.floor(Math.random()*1@ + 1);
document.write(a + "x=" + b);

) F
style="color: Oblack"” id="@@1"

gcd = findGCD(a,b);
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document.write("x=" + (b/fgcd));
} else{
document.write("x=" + (bfgcd) + "/" + (a/gcd));

s
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